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@® 175.56 + 23.1 @ 175.56 + 2.31 ® 1755.6 + 231

@ 17.556 - 2.31 3 17556 = 2310



® 45.72+3.6 @ 4.572+ 36 ® 0.4572 + 3.6

@ 4572 =0.36 ®3 4572 = 36
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® 35+04 @ 2345+95 @ 12.32+135

@ 7.35=0.89 ® 104.1 =37.8
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@® 13.86 +4.2 ® 25.92+7.2 ® 25.16+7.4

@ 936 =36 3 3.375 =~ 1.95
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@ 1247 +29 @ 53.55+8.5 @ 7.56+2.1
@ 5544 =231 G) 2541 = 12.1
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® 2.46+0.6 @ 9.66 + 2.1 @ 5.16+1.2

@ 1092 =28 ®B) 864 =24
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® 57.96+9.2 @ 7.44-0.6 ® 8.96=11.2

@ 921.5+=25 ®3 1.82-13
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® 5.202 + 2.89 @ 22.555 +17.35 ® 32.336=-8.6

@ 9504 = 4.8 ®3) 3.9294-+-3.66
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® 20.3+29 @ 3.44-0.43 ® 17.29+1.9

@ 92754 =~ 0927 3 20=925
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@ 8.356+58=1---2.556

@ 8.356+58=1.4 ---0.236

® 8.356 + 5.8 =1.44 ---0.004

@ 8.356 + 5.8 = 1.4406 ---0.0052

B 8356 = 5.8 = 1.44068 ---0.000056
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@ 234+11=21---0.3
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® 0.01

@ 0.1
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4,76}8,75
® & 1.8 YHZA] : 0.0422 @ Z:1.84HA :0.19
@ T :1.84mHA] : 0.182 @ & :1.834UHZA : 0.042
® 183 UH=A] : 0.422
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@ 56 +16 @ 4+1.25 @ 492+1
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@ 64+1.6

B 64 = 6.4
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@ 3458 + A =2.66 @ 6744~ A =562
® 38.34+na =426 @ 25.568 + A = T7.52

B 575=-A=125



